AXEdhAEMBRATE I3 LFEE | REGHE
HEFHEBE S

10, A(3.5) « B(Z,1) ~ C(1,0) ~ D(3,0)  E(0,5) ~ F(-2,3)8 G(-1,)E M _L/fE% » 3 P FETIBT CDEFG BB LA, » K AP + BP #9R0/IMH B
PREBFE_ -

1.3 []=3=2]- 1| +[ly-3|-2|-1|=4 ZERHImERH WHE

12. 20 ! EHHEMSRRGSEE

13CRAERR < +)7 <1887+ 2 <1 Bt -

14,385 f(x0,2) =4x7 + ¥ +52° » RFHE 2x+3y +4z2=12 E—Bip {8 7 (x,,2) EERIEARAME - Rl p BEFER - BUMER_____ -

& .1 3 7T 2z ¥
15.3F lim—| 14 cos® —+cos* ——+......4+cos’ — | = o
n—= gy 4n 4n 4n

=~ FHEEEEEARE 1 25 4 - ABETTIRERES -

1. AABCth +E3BC , AC , ABB LHIES R ER, , by, b » WEEERRr - & b +h+h 297 (125)

7 9 15

171 4 13 -
2 m 4=l I 2 lmo=|3 2 1]

4 4 4 2 3 -

3 2

4 1 2

(2). SFEUEMFEH D=0740 - (7))
(b). SHFUEMIHER limdA™ - (653)

$2R/£2R

Generated by CamScanner




